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INTER 1> YEAR MATHEMATICS -1A MODEL PAPER

SECTION - A

10.

Very Short Answer Questions:
i)Answer All Questions.
ii)Each Question carries Two marks.

Ifd = [ ,".’T,","]and FA—=Bisa

6 473172
surjection defined by f(x) = cosx then

find B.

Iff(x) = then find the domain.

Define scalar matrix with example.
If
Ix -1 2 y-5

Z 0 2

1 -1 1+a
ll—x 2 -y

2 0 2 |then find the values of
1 -1 1
x,y,zanda
Find the unit vector in the direction of
the sum of the vectors.
a=2i+2j-5kandb=2i+j+ 3k
Find the vector equation of the line
joining the points 2i + j +3k and -4i + 3j
-k
Find the angle between the planes
r.(2i—j+2k)=3andr.(3i+ 6j+ k) =
4,
Prove that
0 0
2 1 2 1y
sin (525) = Cos (22-2-) =
If tan 20° = A then show that
tan160"-tan110" _ 1-4%

1+tan 160%tan 1100 22
If sinh x = 3, then show that

x = log.(3 +V10)
SECTION -B
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15.
16.

Short Answer Questions:
i) Answer any Five Questions.

ii) Each Question carries Four
marks.

If]=[é an CIE—[':| ]Ihcnshow
that (al + bE) =a’ 1+ 3a°bE, where L is
unit matrix of order 2.

4, b, ¢ are non — coplanar vectors. Prove
that the following four points are coplanar.
—a+4b—3¢, 3a+ 2b—5¢,-3a + 8b - S¢, -
Ja+2b+e.
Ifa=2i+j-2kb=i+jac=|d|c-a=2v2
then vector ¢ and angle between axb, ¢ is
30% Then find |{a xb)xd|

Prove that

[Iwm— lluoa ]E\l Lub? ][]+wsg—]=L-
10 10 16

Solve V3 sinf — cosd =2
Prove that

Tan‘1§+ T‘an“%—']"an“g =1
Ifa: b: ¢ =7 : 8: 9, find cos A : cos B:cos
C.

SECTION - C

20.

21.

Long Answer Questions:
i) Answer any Five Questions

ii) Each Question carries Seven
marks.

f: A— B, g: B— C be bijection. Then
goftA—Cisa bijccliorl

1
Show that V¥ n € N, f+;+ﬁ+

L upton terms =
p 3n+1

1 a% &
Show that |1 h? b?
1 ¢ ¢
(b-c)(c-a)(abtbc+ca).
x+y+z=1,2x+2y+3z=06,

X + 4y + 9z = 3 solve this equation

=(a-b)

22.

23.

24.

by matrix inversion method

Find the shortest distance between the
lines r = 61 + 2j + 2k + A(i-2j+2k) and

r=-4i-k+p(3i-2j-2k).

If A, B, C are angles in a triangle,

Then prove that

If p1, p2, p3 are altitudes drawn from

vertices A, B, C to the opposite sides

of a triangle respectively then show that

MODEL PAPER - 2
SECTION — A

Very Short Answer Questions:

i) Answer All Questions.
ii) Each Question carries Two marks.

IfA={-2-1012}and f:A— B
is a surjection defined by f(x) =
x% 4 x + 1 then find B.

Then

Iff(y) = J— 8(y) =
prove that fog (y) =

ifA=[ 2 ]and 42 = 0 then

find the value of k.

1 11
1 11
1 11

IfA = then find rank.

Let@ =i+ 2j + kand b = 3i + j,

find a unit vector in the direction of
a+b.

Find the vector equation of the line
passing through the point 2i + j +

3k and parallel to the vector

4i— 2j + 3k.

If the vectors 2i + Aj — k and4i — 2j + 2

Find the maximum and minimum
values of 3cos x + 4sin x.

1 V3
Prove that sin 10 a cos 10

10 Ifsinh (x) = 2 then find

cosh (2x), sinh (2x).
SECTION - B

1L

Short Answer Questions:

i) Answer any Five Questions.

ii) Each Question carries Four
marks.

Ife—¢= % then prove that
cosﬁsinB:H: cos” ¢

sin” @ cosgsing

cos™ 6

cosg 5in¢:| -0

| cos B sin sin® ¢

If the points whose position vectors are

3~ =R+ 3 =4 =i+ 4

2k, 4i + 5] + Ax are coplanar, then show
146

that A = —

Prove that by vector method Angle ina
semicircle is right angle.

Prove that (1 + cos 1) (1 +

cos )(1+c05 )(1+|:os ) ﬁ.

16. Prove that sin™!

I5. lf'0<x€~r-2{thcnsolve cot? x— (V3 +

1)cot x +v3 = 0.

1 m
+ 2tan™?! = ?

17. In A ABC, prove that cot A+ cot B+

a® +b%+c?

cot C= Py

SECTION-C

III.  Long Answer Questions:

5x4 =20 Marks
1) Answer any Five Questions.
ii) Each Question carries Four marks.
18. Iff:A— B,g:B — Care two bijective
functions, Then prove that (gof) ™' =
f— 1 ugul
19. By mathematical induction show that

49™ + 16n — 1 is divisible by 64 for all
positive integer 'n '

20. Show that
a+b+2c a b
c b+c+2a b |
a c+a+2b

C
2(a+b+c)’.

21.  Solve the equations 2x —y + 3z =9,x +
y+z=6,x—y+z=2 by matrix
inversion method.

22. lfa=i—=2j+3kb=2i+j+kc=
i+ j+ 2k. Then find the values of
|(axb) xc|,|ax(bxc).

23. If A, B, C are angles of a triangle, prove

that cos 2A + cos 2B + cos 2C = -1 —
4cos Acos Beos C.

DURGA PRASAD
senior maths faculty
NANO JUNIOR
COLLEGE, MADHAPUR
HYDERABAD
9701105881.

H3d0 - A3 9‘8&

Sodo Sae KHko: 2.8 B &3 HBdTrod
223 ACHNE o008 &5 @"a“’@& &‘)MSJQ%’S
a‘)m&)& ‘Boso’ S ‘?{&60260 90eED.

R SRS B 1 2.8 5H) §!°€60 BT 223 AAH
c‘.’bé e0sb SrEhom ‘%eé&a)owé
& 53D @%J@(\)@éﬁ &35 wotrd.

a8 5% &8 ¥s0508° £°Q) SKpHes’® 39
S géom‘d} Q) SHHes® S
Db F0$0S5E@ Gotnod.

&0: Send® (HAredig) 2Kt Sheo 280
5 DHoRBS® e ©IDTH. ©
a(g(ﬁa gen 208 &8 08 Bobdos®

&80 AW

S0 w38 K80 2580 @0
Jdgore &oenod

EdSeto: ¥ SQPH ErS sodgHee’
DS Breoren (KHOSPSR) wb
Bso506° e85 wotrd.

aw: % o0& Krends) s

BSOS Hodo: & SHYH BIeS seodssd
G DBS tsrren (HoSreBoBEIES wb
BSo83eE Sokos® &6 woer.

aae: AHEHES) SerEs Do Hodo

FoToen Eseen :
BT AN EsCenrr GOoETPoN. 9.
1) oSy Sodo B B Seso
2) @oes oo
8) oS oo 4) EoHS Soso
FToLE Solo: e 3%‘60 5008 $&°E 5"@(‘05
e Srgos® sm‘{) 3 éﬁéoé"ss‘&) 5039
écSe)csv(‘O& FrosS oo eaoéaviﬁ)
& $&D éaé()qx 88, a.)(oaa
5oL S008BS o3 Peomren
Eoes oo $:9) oo ood @gé fSetelod
Zoo hear DB HT BGHBE® Soenod.
s BEDS Hoard) (@eoes P50 0.
&ae: Sothe TPeno @bﬁméu})c‘faa 501 S0,

;‘)1’55 Holo, HEasrso Swey oo

ol Solo: ) a8 Socss FSo Kod
[HIHT® HS HA iﬁé’)@oéﬁ ol oo
083°%0.

& K&aSreso So¥o (3rtiog00) BSOS, ol
Somed) S¢St KHHR0NS THIE
ROOR>

8o Hoo: 2.8 Seo Y Dotk $od S
Sagsgeso K‘J;ESO 309 Soew éﬁgoé“s S0
5% 868 ForQ) Bods  Hodo
0%,

awe: Des, AETPSHSD Bifen Koo BASHE
8 B oo, é)a;&& $0e3 &erseer 852:6
B0,




